Geoboard areas
Find the areas:
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Direct model each problem:

C\{ Sarah had 8 origami frogs. She made 3 more origami 1 Mark had 14 crackers. He ate 9 crackers. How many

frogs. How many origami frogs does she have now? crackers does he have left?

<_ | Walter has 8 shiny rocks in his collection. How many . | Amanda has 9 red marbles and 6 blue marbles. How
more shiny rocks will he have to find to have 12 shiny many more red marbles than blue marbles does she
rocks? have?

€A pack of juice boxes has 8 boxes in it. How many juice -Q— 6 friends share 42 candy bars. How many candy bars
boxes are in 6 packs? does each friend get?

5 A snail crawls 4 feet in an hour. How long does it take
for the snail to go 20 feet?

Venn diagrams with shapes
Make a Venn diagram showing all of the special quadrilaterals

Lf Explaining the addition and subtraction algorithms
Explain using manipulatives and the standard algorithm: 203 — 174

Making a paralielogram from triangles
5 Make a parallelogram from 2 copies of the triangle to the right

G b

Word problems with Venn diagrams

Of the 25 people at the party:
*_~ 18 like pepperoni or olives on their pizza
s 12 like pepperoni pizza
* 15 people do not like olives

How many people like both pepperoni and olives on
pizza? _‘éaszLLQJj@ t

Which of these could be a definition for set A (explain)
a) shapes with at least one pair of equal sides
b) shapes with at least two pairs of equal sides
¢} shapes with an obtuse angle
d) shapes with a right angle

Scaffolding division
1 Solve 1732 + 7 using scaffolding division and a tape diagram.
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